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Govt. Pt. Shyamacharan Shukla College, Dharsiwa, Raipur (C.G.) 
Assignment - 2019-20 

(Only for Regular Students/dsoy fu;fer fo|kFkhZ gsrq) 
B.Com. Part II 

Group-I- Paper-II 
¼ ykxr ys[kakdu@ Cost Accounting½  

 

vf/kdre vad- 75 

 

¼uksV&fdUgh ikap iz”uksa ds mRRkj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA  

lHkh iz”uksa ds vad leku gSA½ 

 
 

bdkbZ&1 

 

iz”u 1 ykxr ys[kkadu D;k gSAblds {ks= o lhek,a crkb,A ykxr ys[kksa ls izkIr ykHkksa dk o.kZu 

dhft,A 

 What is Cost Accounting ? What is the scope and its limitations? Describe the benefits 

obtained from cost accounts. 

vFkok 

 

   fuEu fyf[kr fooj.k ls *ckn esa vkuk] igys tkuk * i}fr ls lkexzh ds fuxZeu ewwY; Kkr 

dhft,% 

Find out the issue prices of the material on last in ,First out  method from the following 

particulars. 

 

Receipts ¼izkfIr½ Issue ¼fuxZeu½ 

Date Qty. Rate Date Qty. 

Feb 2020 Kg. Rs. Feb 2020 Kg. 

10 200 12.00 3 300 

15 300 14.00 12 100 

25 400 15.00 14 200 

28 100 16.00 18 200 

   26 400 

 

      1 Qjojh 2020 dks vkjafHkd LVkWd 400 fd-xzk- 11 : dh nj ls Fkk % 

          On 1 feb 2020 the opening stock was 400 kg valued at Rs. 11 per kg.  

 

bdkbZ&2 

 

iz”u 2 izsj.kkRed etnwjh Hkqxrku i}fr;kWa dkSu lh gSa A muesa ls fdUgha rhu dks la{ksi esa le>kb, A  

What are the main incentive wage paymentmethods .Explain any three in brief. 

 

vFkok 



z 

 

,d foHkkx esa pkj ubZ e'khusa gSa] izR;sd cjkcj dh txg ,oa LFkku ?ksjrh gS RkFkk mudh ykxr 

dze'k% 20]000:] 25000 :] 30000 : rFkk 40000 : gS A foHkkx ds ,d o’kZ ds O;; fUkEu 

izdkj gS & 

A department has four new machines, each occupying an equal area and space and 

costing respectively Rs. 20000; Rs.25000; Rs.30000 and Rs. 40000. The following are 

the expenses of the department for the year: 

 

fdjk;k (Rent) 10000 

Ikkuh ,oa nj (Water and Rates)  4250 

fctyh vkSj rkiu (Light and Heat)  7150 

'kfDr (Power) 

                                No. 1                                                  5,100 

                                No. 2                                                  5,000 

No. 3                                                 12,000 

No. 4                                                 14,500  

 

 

 

 

36,600 

iz'kklfud O;; (Administration Exp.)   9,500 

Pkkyu ,oa ejEer O;; (Running Expenses and Repairs) 20,000 

 

izR;sd e'khu ds fy, e”khu ?kaVk nj Kkr dhft,A ekfu, fd o’kZ esa 50 lIrkg gksaxs rFkk izfr  

lIrkg 45 ?kaVs dk;Z lEiUu gksxk A bl {kerk dk 80 izfr”kr mi;ksx gksxk A e”khuksa  dk 

thou 10 o’kZ gksxk vkSj dksbZ vo”ks’k ewY; ugh agksxk A  

 

Calculate machine hour rate for each machine. Presume 45 hours a week and 50 weeks in 

year, 80% is the utilisation. The machines are expected to last for 10 years and do not 

have scarp value. 

 

bdkbZ&3 

 

iz”u 3 viw.kZ Bsds ij ykHk gkfu dh x.kuk dks le>kb,A 

      Explain the calculation of profit and loss on incomplete contracts. 

  

vFkok 

 

 fuEu lwpuk ,d lkbfdy QSDVªh ls lacaf/kr gSA 

 The following information relates to a cycle factory: 

Lkkexzhykxr (Material Cost) 1,20,000 

Je ykxr (Labour Cost) 2,40,000 

LFkk;hmifjO;;  (Fixed Overhead) 1,20,000 

ifjorZu'khymifjO;; (Variable Overhead)   60,000 

mRiknu (Production) 12,000 cycles 

dqy {kerk (Total capacity ) 20,000 cycles 

fodz; ewY; (Selling price) Rs. 50 per cycle 



z 

 

QeZ dks 40 : izfr lkbfdy dh nj ls 5]000 lkbfdysa [kjhnus dk izLrko izkIr gqvk A 

;fn ;g izLrko eku fy;k tk;s rks %  

¼1½ lkexzh ykxr esa ,d :Ik;k izfr lkbfdy dh cpr lHkh mRikfnr lkbfdyksa ij gksxh A 

¼2½ LFkk;h mifjO;; esa 35]000 : dh of̀} gksxh A  

¼3½ mRiknu dh dk;Z {kerk esa 2 izfr”kr dh lHkh mRiknu ij deh gksxh A 

 viuh lgefr nhft, A 

 

 The firm has an offer for the supply of 5,000 cycles @ Rs. 40 per cycle. If the offer is 

 accepted, it would lead to:  

(i) A saving of Rs 1 per cycle in material cost on all cycles manufactured. 

(ii) An increase in fixed overhead by Rs 35,000. 

(iii)A drop in overall efficiency by 2% on the entire production. 

 Give your opinion. 

 

bdkbZ&4 

 

iz”u 4 ifjpkyu ykxr fdls dgrs gSa \ blds D;k mn~ns'; gSa mu laLFkkvksa ds uke crkb, ftuesa 

bl jhfr dk iz;ksx fd;k tkrk gS A 

           What is operating Cost? What are its objects ?  state the undertakings Where it is to be 

used? 

 

vFkok 

 

,d daiuh rhu izfdz;k ds }kjk ,d mRikn dk fuekZ.k djrh gSAizR;sd izfdz;k esa izos”k dh 

xbZ bdkb;ksa dk 2 izfr”kr [kks tkrk gS o 10 izfr”kr {k; gks tkrk gS ftlls izfdz;k 1 o 2 

ds }kjk 10 : izfr Vu o izfØz;k 3 ls 20 : Vu izkIr gksr sgSa A fooj.k fuEu gSa % 

A company produces a product through three processes. In each process 2% of total 

input is lost and 10% is scrap which from process 1 and 2 realises Rs. 100 a ton, from 

process 3 Rs. 20 a ton. The details are below: 

 

Details/ fooj.k Process 

1 2 3 

vxyh izfd;k dks gLrkarj.k  

(Passed on to next process) 

75% 50% - 

xksnke esa Hkstk (Sent to warehouse) 25% 50% 100% 

dPph lkexzh (Raw Materials) RS. 1,20,000 28,000 1,07840 

dPph lkexzh ek=k ¼Vu½  

[Raw Material quantity (ton) ] 

1,000 140 1,348 

fuekZ.ketnwjh [Manufacturing 

Wages(RS.) 

20,500 18,250 15,000 

lkekU; O;; (General Expenses) 10,300 7,240 3,100 
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izfd;k [kkrs cukb, o ykxr izfr Vu fu/kkZfjr djsaA 

Prepare process Accounts and ascertain cost per ton. 

 

 

bdkbZ&5 

 

iz”u 5 ykxr ykHk rFkk foRrh; ykHk ds chp varj ds dkj.kksa dk o.kZu dhft, \lek/kku fooj.ki= 

dk izk:Ik Hkh cukb,A 

 

 Explain reasons for difference between cost profit and financial profit. Prepare the 

proforma of Reconciliation statement  

 

vFkok 

 

,d O;kikj dh LFkk;h ykxrsa 40]000 : izfr o’kZ gS rFkk ifjorZu”khy ykxrsa fcØzh dh 60 izfr”kr 

gSa fuEu n”kkvksa esa ls izR;sd n'kk esa lefoPNsn fcUnq Kkr dhft, A 

The fixed costs of a business are 40,000 per year and variable costs are 60% of sales. 

Calculate Break-even point of the business under each of the following conditions: 

¼1½ ;fn LFkk;h ykxrsa 10]000 c<+ tkrhgSA (Fixed costs are increased by rs. 10,000) 

¼2½ ifjorZu”khy ykxrsa fcØzh dh 50% gks tkrh gSaA(Variable costs become 50% of sales) 

¼3½ fodz; ewY; 20% c<+ tkrk gS A (selling price is increased by 20%) 

¼4½ fodz; ewY; 20% ?kV tkrk gS A (selling price is decreased by 20%) 

 

************** 


